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4/30/2004

ENGR480 - Eight State Example

[SG
ldle state
sIDLE
50
Block sensor - diffuse optical Clamping
ISENSOR sCLAMP
X0 51
2 { { P}
G
Clamping
sCLAMP
$1
Clamp block
_On GCLAMP
5P Y2
4 — | { our )
Clamped Drilting
iICLAMP sDRILL1
x5 52
s — } { e )
ISG
Critling
SDRILLE
52
Lower drill press
_On aDRILL
SF1 Yo
7 | { out )
Clamp block
oCLAMP
Y2
L—{ our )
Drili press down Retuming drill
iDRILLDN sDRILLIRET
X2 53
8 I { Jp )
ISG
Retuming drill
sDRILLIRET
S3
Clamp block
on oCLAMP
SPt Y2
10 — | { out )
Drill press up
iDRILLUP 8SHIFTLEFT
X1 54
1 [} { P )
5G
sSHIFTLEFT
54
Clamp block
_Cn oCLAMP
5P1 Y2
13— | { out )}
Shift block
oSHIFT
Y1
t——!{ out )
Position 2 - shifled
iPOS2 sDRILL2
X3 85
4 L { )
ISG
sDRILE2
55
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* Lower drl press
oDRILL

Erill press down
iDRILLDN
X2

Y0
{ our )
Clamp block
oCLAMP

Y2
——{ out }
Shift block
aSHIFT

Y1
b———{ ouT )

SDRILL2RET
56

17 N

G

sDRILL2RET
56

On
5P
19 =i |

{ P )

Clamp block
oCLAMP
Y2

Drill press up
iDRILLUP
IX1I

{ out )

Shift block
oSHIFT

| OYL]T )

sSHIFTRIGHT
57

20 (I

SG
SSHIFTRIGHT
s7

On

SP1

2 — |

{ e )

Clamp block
oCLAMP
Y2

Pasiticn 1 - retracled
iP

23 i}

{ our }

ldle state
sIDLE
S0

{ wp }

24

{ END )
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2Zmachine_demo

off slale, 206 machine
s2nd_OFF
54

{ P )

irigger 2nd state machine
c¢TRIG

co
——— RST }

2nd machine output indicatar
oON
Y3

{ out )

4/30/2004 ENGR480 - Two State Machine example
155 i
idle slale, 15t machine I5G
sist_IDLE on state, 2ngd machina
S0 s2nd_ON
S5
first input state 1. 1st machine
A s1st 1 trigger 2nd slate machine
Xi 51 <TRIG
z — | { e ) co
15 1|
Irigger 2nd state machine
cTRIG
Ca
e SET )
G
slate 1, 1st machine
sist_1 _On
51 5P1
16 |
state bil &
_On oBETO
SP1 Y1 17
4 ; { our )
saecond input stale 2, st machine
B sist_2
X2 S2
5 I { P )
ISG
state 2. 1st machine
s1st 2
52
state bit 1
_On oBIT1
5P1 YO
7 { our }
first input state 3, 1al machine
iA s1st_3
X1 83
s 1 | { e )
lrigger 2nd state machine
cTRIG
co
L sET )
G
slate 3. 1st machine
sist 3
S3
state bit 0
_On oBITO
5P1 ¥1
1 — | { out )
state bit 1
oBIT1
YO
b ouT }
second input idle state, 1sl machine
iB s1st_IDLE
X2 50
1 b { amP )
ISG
oft state, 2nd machine
s2nd_OFF
54

irigger 2nd state machine
cTRIG

or: state, 2nd machine
s2nd_ON
55

13 1

{ wp )

trigger 2nd state machine
c¢TRIG

co
L—{ RsT )
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